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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt'], [’

T, "Topt'], [

RH', 'RHopt'], [’

ETcl’, 'optETcl’], 'LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forMG_O

minFVI
minFVO

Warning: col ['minFVliraw', 'minFVOraw'] is missing

1.04

1.02

1.00 A

0.98

0. 96

—@— ETcA

Warning: col ["ETcAlraw’, "ETcA1", '|ETcA2raw’, "ETcA2'] is missing

1.0

.0 0.2 0.4 0.6 0.8 1.

0.8 ~

0.6

0.4 -

0.2~

Warning: col ['ETcA2raw’, 'ETcA2avg’', 'ETcA2’] missing

0.0

3000

2750

2500 -

2250

2000

1750

—@— ECopt

ning: col ["ECC’, "ECI', 'ECO’] is missing

—@— PHopt

Warning: col ["PHC’, 'PHI', "PHO'] is missing

31.5 4

31.0 A

30. 5 -

30.0

29.5 -

29.0

28.5

—@— WCperM

Warning: col [ WCperMraw’, 'WCperMavg'] is missing

0. 50

0. 45 -

0. 40

0. 35 A

0. 30

0.25 A

0. 20 -

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

30 -

28 A

26

24 ~

22 A

20 A

—@— begM
—0— maxM

'.........‘.........‘........‘—.— minM......‘.........‘.........‘..'
1

ad jFVOR

—0. 02 ~

—0. 04 A

Warning: c¢ol ["adjFVIRraw, "adjFVIR, "adjFVORraw' ] is missing

FRC
FRraw

Warning: col ['FRA’] is missing

WWWWT&W

0 10 20 30 40 50 60

600 -

500 -

400 ~

300 -

200 -

100 -

o postFgEtraw
—@— postFgEtavg
—@— postFgEt




FgDaily

- 100

0.0 -
3.0 -
6.0 -

- 60

- 40




i
PN




ETcP ETcldef ETcl

ETclis ETcPT

ETol ESo

ETbai

pR

T PPFD | pVPD

RH

ETcI

ETcIdef ETcP

ETcPT ETC|IS

So

EToI

ETbal

pR

VPD

PPFD

RH

1.0

0.8

0.6

0.4

-0.2



1400 -

1200 -

1000 ~

800 ~

ETcl

600 -

400 -

200 -

1400 -

1200 ~

1000 -

ETol

800 ~

600 -

400 ~

28 A

26 A

24

22 -

20 A

18

16

80 -
75
70 -
65 -

RH

60 4 9% %

55 -
50 -
45

400 -

350 -

300 -

— 250

2001 @ o

150 ~

100 -

ETcl

T
1000

ETol

20 25 50 60




hour

1556 -

:00

110

:15

115

115

:20

:30

:00

100

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%_}\
T
Y
2

4@
o
%,

%

%



MG

BYE) | GEBERTIC (B)) | ERE (BEA/4K) | EBREE (B/R) | XS SRR

08:00 455 150.0 0. 063 FA| hHR@08:00 KEFERF (RALERR)
08:55 455 150.0 0.063 FA| FHA@08:55 KRENFZF (KRFIEES)
10:10 455 150. 0 0.063 |/\A3| FnHR@10:10 RENFEF (KFBERESE)
11:15 455 150.0 0.063 [/\fu| FhHR@11:15 KEIZEF (GRAMEEEE)
12:15 455 150. 0 0.063 [/\fi| FiHRe12:15 KEEF (KAERE)
13:15 455 150. 0 0.063 [/\fii| FuHA@13:15 KREFEF (GRAERSE)
14:20 455 150.0 0.063 [/\fu| FhHR@14:20 KEFEF (GRAHERESE)
15:30 455 150. 0 0.063 [/\fi| FuHA@15:30 KREFEF (RAFEHSE)
17:00 455 150. 0 0.063 [/\fii| FuHA@17:00 KREFEF (CGRAERSE)
=23t 4095.0 (9%) 1350.0 3EUHIKEC: 2198.0, PH: 6.5
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MG

BTiE) | GEBIATK (F) | EME (EH/) | BEBRERE (/X)) | XK EFRF
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MG

BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

08:20 300 130.0 0.055 =  {Ri%@08:20 KHFEF (KREAEZERE)
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10:10 300 130.0 0. 055 = Ri%e10:10 RHEEF CGREAEZEBE)
11:05 300 130.0 0. 055 El Ri%e11:05 KEHEF (REBEREE)
11:55 300 130.0 0. 055 | {Ri&e11:55 KHEF (RAMEESE)
12:45 300 130.0 0. 055 = Rige12:45 RHEF GGREAZBE)
13:35 300 130.0 0. 055 & BRi%e13:35 RHAEF (REERE)
14:25 300 130.0 0. 055 | Ri%e14:25 KHEF (RAMEESE)
15:20 300 130.0 0. 055 = Ri%e15:20 RHAEF CGREAFZRE)
16:25 300 130.0 0. 055 5| 1BRi%e16:25 REEF (KEERSR)
21t] 3000.0 (10)%) 1300.0 EFEKEC: 1982.0, PH: 6.5

EORGEBRBT R IRAR Y2 Y (302 vs 382.0))

PRI SEFRIERE103.0 ml.
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MG_O, Day=42 (2025-06-11)
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MG

BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

06:45 300 130.0 0.055 s  {Ri%@06:45 KRHEF (KREAEZERE)
07:55 300 130.0 0. 055 E[  1Ri18@07:55 KREFEF (GRFAEREE)
09:15 300 130.0 0. 055 s BRi&@09:15 KEIZF (RAEEE)
10:35 300 130.0 0. 055 s {Ri%@10:35 RHAEF (KREEZERE)
11:35 300 130.0 0. 055 5| Ri%e11:35 KHEF (RAMEESE)
12:30 300 130.0 0. 055 = Ri%e12:30 RHAEF GREAZBE)
13:30 300 130.0 0. 055 =  BRi%e13:30 RHEF (KREEZERR)
14:30 300 130.0 0. 055 5 Ri%e14:30 KHEF (RAMEESE)
15:35 300 130.0 0. 055 = Ri%e15:35 REEF CGREAEZRE)
16:55 300 130.0 0. 055 F  {Ri1Z016:55 KREIEF CREAERSE)
=24t+( 3000.0 (10%) 1300. 0 EPUHKEC: 2001.0, PH: 6.5
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